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import java.util.Random;

public class SkipList {
static class Node {
int value;
Node[] next;
Node(int value, int level) {
this.value = value;

this.next = new Node[level + 1];

private Node head;
private int maxLevel;
private Random rand;

private int level;

SkipList() {

maxLevel = 16;

head = new Node(-1, maxLevel);
rand = new Random() ;
level = 0;

private int randomLevel() {
int 1vl = 0;
while (rand.nextBoolean() && 1lvl < maxLevel) lvl++;

return 1vl;



void insert(int value) {

Node[] update = new Node[maxLevel + 1];

Node current = head;

for (int i = level; i >= 0; i—-) {
while (current.next[i] !'= null && current.next[i].value < value) current = current.next[i];
update[i] = current;

¥

current = current.next[0];

int newLevel = randomLevel();

if (newLevel > level) {
for (int i = level + 1; i <= newLevel; i++) update[i] = head;
level = newlLevel;

}

Node newNode = new Node(value, newLevel);

for (int i = 0; i <= newLevel; i++) {
newNode.next[i] = update[i] .next[i];

update[i] .next[i] = newNode;

boolean search(int value) {
Node current = head;
for (int i = level; i >= 0; i--) {
while (current.next[i] !'= null && current.next[i].value < value) current = current.nextl[i];
¥
current = current.next[0];

return current !'= null && current.value == value;

public static void main(String[] args) {
SkipList sl = new SkipList();
sl.insert(3);
sl.insert(6);
sl.insert(7);
System.out.println("Search 6: " + sl.search(6));

System.out.println("Search 5: " + sl.search(5));



3M3eye:

Search 6: true

Search 5: false

2. gfaaa-wrEe (fRusitde |@e): sAfaRfad ¢

gfg=-wigs feusiide de ot gurdl & @ yeiid idm 8, Sit ure sl SiR Y gRIRed & ary e 0(1) srHielsss g & gfage
3R HIES SITURRIY I GHYF T gl

Srar sftadee

public class UnionFind {

private int[] parent, rank;

UnionFind(int n) {
parent = new int[n];
rank = new int[n];

for (int i = 0; 1 < n; i++) parent[i] = i;

int find(int x) {
if (parent[x] != x) parent[x] = find(parent[x]);

return parent[x];

void union(int x, int y) {
int rootX = find(x), rootY = find(y);
if (rootX != rootY) {
if (rank[rootX] < rank[rootY]) parent[rootX] = rootY;
else if (rank[rootX] > rank[rootY]) parent[rootY] = rootX;
else {
parent [rootY] = rootX;

rank [rootX]++;

public static void main(String[] args) {

UnionFind uf = new UnionFind(5);



uf .union(0, 1);
uf.union(2, 3);

uf.union(1, 4);

System.out.println("0 4 : "+ (uf.find(0) == uf.find(4)));
System.out.println("2 4 ¢ "+ (uf.find(2) == uf.find(4)));
}
}
3T3cyc:
o 4 : true
2 4 : false
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public class AVLTree {
static class Node {
int key, height;
Node left, right;
Node (int key) {
this.key = key;
this.height = 1;

private Node root;

int height(Node node) { return node == null ? O : node.height; }

int balanceFactor(Node node) { return node == null 7 O : height(node.left) - height(node.right); }

Node rightRotate(Node y) {
Node x = y.left, T2 = x.right;
x.right = y;
y.left = T2;

y.height = Math.max(height(y.left), height(y.right)) + 1;

4



x.height = Math.max(height(x.left), height(x.right)) + 1;

return Xx;

Node leftRotate(Node x) {

Node y = x.right, T2 = y.left;

y.left X

x.right = T2;

x.height = Math.max(height(x.left), height(x.right)) + 1;
y.height = Math.max(height(y.left), height(y.right)) + 1;

return y;

Node insert(Node node, int key) {
if (node == null) return new Node(key);
if (key < node.key) node.left = insert(node.left, key);
else if (key > node.key) node.right = insert(node.right, key);

else return node;

node.height = Math.max(height(node.left), height(node.right)) + 1;

int balance = balanceFactor (node) ;

if (balance > 1 && key < node.left.key) return rightRotate(node);
if (balance < -1 && key > node.right.key) return leftRotate(node);
if (balance > 1 && key > node.left.key) {

node.left leftRotate(node.left) ;

return rightRotate(node) ;

}

if (balance < -1 && key < node.right.key) {
node.right = rightRotate(node.right);
return leftRotate(node) ;

}

return node;

void insert(int key) { root = insert(root, key); }

void preOrder (Node node) {
if (node != null) {

System.out.print(node.key + " ");



preOrder (node.left);

preOrder (node.right) ;

public static void main(String[] args) {

AVLTree tree = new AVLTree();
tree.insert(10);

tree.insert(20);

tree.insert(30);

tree.insert (40);

tree.insert(50);

tree.insert(25);

System.out.print ("Preorder: ");

tree.prelrder(tree.root) ;

SI3cY¢e: Preorder: 30 20 10 25 40 50
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public class BinaryIndexedTree {
private int[] bit;

private int n;

BinaryIndexedTree(int[] arr) {
n = arr.length;
bit = new int[n + 1];

for (int i = 0; i1 < n; i++) update(i, arr[il);

void update(int index, int val) {
index++;

while (index <= n) {



bit[index] += val;

index += index & (-index);

int getSum(int index) {
int sum = O;
index++;
while (index > 0) {
sum += bit[index];
index -= index & (-index);
}

return sum;

int rangeSum(int 1, int r) { return getSum(r) - getSum(l - 1); }

public static void main(String[] args) {
int[] arr = {2, 1, 1, 3, 2, 3, 4, 5};
BinaryIndexedTree bit = new BinaryIndexedTree(arr);
System.out.println("0 5 : " + bit.getSum(5));
System.out.println("2 5 : " + bit.rangeSum(2, 5));
bit.update(3, 6); // 3 6

System.out.println(" 2 5 : " + bit.rangeSum(2, 5));
+
}
3MT3eYe:
0 5 1 12
2 5 9
2 5 : 15

SHANT 7: STren § @lot 3R RAsgete  siemess

Giel IR oA oMy gahiEfET ok tefafeies Tawrst &l g axd 81 T @il 3R Aive HIcl R ol Siad 8l



1. T* Gior: gRfRes auwEfET

T* Teh GfRd @it SIMRYH 8 Sif Ueh gRIRh o SUANT e UTth # Tard Biel Uy @ioid 8, St feweht #iR Mt @isT ol drendt aht
fActrar 81 g8 T 3fiR AfaRie # arues U @ IuahT fohar STrar 8l

e sfeade

import java.util.*;

public class AStar {
static class Node implements Comparable<Node> {
int x, y, g, h, f;
Node parent;
Node(int x, int y) {

this.x = x;

this.y = y;
this.g = 0;
this.h = 0;
this.f = 0;

}

public int compareTo(Node other) { return this.f - other.f; }

static int heuristic(int x1, int y1, int x2, int y2) {

return Math.abs(xl - x2) + Math.abs(yl - y2); //

static void aStarSearch(int[][] grid, int[] start, int[] goal) {
int rows = grid.length, cols = grid[0].length;
PriorityQueue<Node> open = new PriorityQueue<>();
boolean[] [] closed = new boolean[rows] [cols];
Node startNode = new Node(start[0], start[1]);

Node goalNode = new Node(goall[0], goall1]l);

startNode.h = heuristic(start[0], start[1], goall[0], goall[l]);

startNode. f startNode.h;

open.add(startNode) ;

int[1[] dirs = {}; /7
while (!open.isEmpty()) {

Node current = open.poll();



if (current.x == goall[0] && current.y == goall[l]) {
printPath(current) ;
return;

}

closed[current.x] [current.y] = true;

for (int[] dir : dirs) {

int newX current.x + dir[0], newY = current.y + dir[1];

if (newX >= 0 && newX < rows && newY >= 0 && newY < cols && grid[newX] [newY]

Node neighbor = new Node(newX, newY);
neighbor.g = current.g + 1;

neighbor.h = heuristic(newX, newY, goal[O], goallll);

neighbor.f = neighbor.g + neighbor.h;
neighbor.parent = current;

open.add(neighbor) ;

}

System.out.println(" ")

static void printPath(Node node) {

List<int[]> path = new ArrayList<>();
while (node != null) {
path.add(new int[]{node.x, node.y});
node = node.parent;
}
Collections.reverse(path);
System.out.println(" :");

for (int[] p : path) System.out.println("(" + p[0] + ", " + p[1] + ")");

public static void main(String[] args) {

int[J[] grid = {

{0, 0, 0, 0O},
{o? 1’ 13 O},
{0, 0, 0, O}

};
int[] start = {0, 0}, goal = {2, 3};

aStarSearch(grid, start, goal);

=1 && !closed[:



JTIeYe:
0, 0
1, 0
2, o
(2, O
2, 2)
2, 3)
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import java.util.Random;

public class MonteCarlo {
static double estimatePi(int points) {
Random rand = new Random();
int insideCircle = O;
for (int i = 0; i < points; i++) {
double x = rand.nextDouble();
double y = rand.nextDouble() ;
if (x * x + y *x y <= 1) insideCircle++; //
}

return 4.0 * insideCircle / points; // * 4

public static void main(String[] args) {
int points = 1000000;
double pi = estimatePi(points);
System.out.println(points + " "+ pi);

System.out.println(" : " + Math.PI);
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1000000 ¢ 3.1418
: 3.141592653589793
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